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fAN: AR
& 1 500 EX=
2 510 I NEx3S
g 511 FNEXZS (el ®&
SN -F- 282 0 Ak o pJE-E HR=Z
ES Al 29,584,411 28,519,725 1,064,686
16,076,128 15,996, 130 79,998
2x32 15,820,628 15,740,630 79,998
0 =218X3S 14,609, 329 14,555,997 53,332
511 208X =3S 14,609, 329 14,555,997 53,332
511-01 212X 3 14,609, 329 14,555,997 53,332
Ottt EdsE2d X3 A 53,332,000& 53,332 0 53,332
20 Al - EHIEZS2S 1,211,299 1,184,633 26,666
521 Al - SHIEXZ2S 1,211,299 1,184,633 26,666
521-01 Al - SHIE X3S 1,211,299 1,184,633 26,666

Ozt ds2d NHAE 26,666,000 26,666 0 26,666
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SM: AN
R
B ;510 2NRX3ES
8 @511 2DBE3ES (B9 ®R)
SN2 Ol & plE-E" HIDE 2
SAIE D 756,060 751,340 4,720
500 2X3 539,060 534,340 4,720
510 22 x2S 4,720 0 4,720
511 2DEE3S 4,720 4,720
511-02 2R ELHSHINRBES 4,720 0 4,720
OMNLHE+2el 4,720,000 4,720 0 4,720
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